TK95080 and TK95081 - 60" Deere Boot Kit

# Part # Qty Description
1 ST48554 1 Deflector 54, 60

2 | ST48533-02 1 Boot for 60" and 72" decks

3 ST48549 1 1/4" Latch Clamp

4 ST48561 1 Rear Angle 60

5 ST48551 1 Boot Latch

6 ST48560 1 Boot Hinge

7 ST48559 1 Mower Deck Hinge

8 ST48562 1 Boot Mount Bracket 60

9 ST65003 7  |3/8 Flat Washer

10 ST65006 4 |5/16 x 3/4 Carriage Bolt

11 ST65008 4 5/16 Flange Nut

12 ST65014 2 5/16 x 1 Flange Bolt

13 ST65097 7 5/16" Nylon Lock Nut

14 ST65140 5 5/16 x 1 Carriage Bolt

15 ST65000 3 #10-24 x 3/8" Truss Head

16 ST65051 3 #10-24 Nut

17 ST48566 1 Quick Release Pin g3/8" x 4"
18 ST48567 1 Lanyard 8"

Revised: 6-19-19



